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(c) Versatile
A person, One who possesses many talents is

called a Versatile. It means multiskilled,
adaptable, flexible, ...
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29. (c) worked
In the past tense, we use the second form of
the verb (V2). In the above sentence, Palak
has already worked in different schools, after
that decision is made.

Thus, we will use past tense to complete the
sentence.

The complete sentence is Having worked in
both government and private schools, Palak is
the most suitable person to take over as the
principal of the school.

30. (d) the W

31. (d) The entire block will be demolished.

32. (b) Slightly unwell or in low spirits.

33. (c) stoke
“Stoke” means “add coal or other solid fuel to
(a fire, furnace, boiler, etc.)”. The word “stoke”
fits the blank perfectly.

“Soak” and “strike” do not make any sense
here either grammatically or contextually.
“Soak” means make or allow (something) to
become thoroughly wet by immersing it in
liquid

“Strike” means hit forcibly and deliberately with
one’s hand or a weapon or other implement
“Increase” may also fit the blank, but “stoke”
is more appropriate in the given context.

34. (c) need not
The sentence suggests that driving fast is not
necessary. Hence the most appropriate modal
verb to suit this context would be ‘need not’.
‘Will not” suggests a simple future that is inapt.
‘Had not” and ‘do not’ are illogical.

35. (d) on, in W
This idea is also the explanation of his
government’s policy Jammu and Kashmir, as
reflected his own pronouncements.

The noun ‘policy’ in general is followed by the
preposition ‘on’.

Ex. The government is to introduce new liquor
policy on October 1 in Vijayawada.

This confirms ‘on’ as the preposition for the
blank 1.

For the blank 2 the only choice that seems
most appropriate among all is ‘in’
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